Time Domain

_f\g\lf—?/\_u_

5mF

o—l%’\/\/\/—q

2 mF 20 Q

._I\/V\/_fWY\_.

30 Q 4H

i(t

——

()
/
5cos(10t+30°%) V

Frequency Domain

_fWV\_K_
——w—

+—AN—"Y

——

()
/

Time Domain

4 H
Y Y Y

+

20 Q

VMV

v(1) (T 10 cos(5t + 45°) mA

LYY
2 H

| ¢
I\
4 mF

30Q ==5mF

Frequency Domain




SO

j50 Q

—j50 Q

30 Q

()

JVW\_|H

~j20 Q

——W—

._IVV\/_/WY\_"

20 Q

j40 Q
I (w)

——

—/

5230° V

V =0.01245°

=0.01£45°

=0.01£45°

=0.01£45°

5,30°  5/30° 5/30°
(w)= — + o
30+ j40 20— 350 j50-j20

=0.100£-23.1°+0.0923£98.2° + 0.1667 £ — 60°

=0.186£-29.5° A

SO
i(t)=0.186cos (10t - 29.5°) A

= 40 Q

~j50 Q

(2011 j20)+(301/(-j40))+( j101I(- j50)) |

'2o(jzo)+3o(—j4o)+ j10(-j50)
|20+ j20 30— j40  j10- j50

[14.14.245°+ 24/ -36.9°+12.5/90°]

[10+ j10+19.2— j14.4+ j12.5]

=0.303£60.5° V

v(t)=0.303cos (5t +60.5°) V



